5 BET A 2017 FHTHIRENF R
MERE: 825 MESH. _ BEERE

IEEW. 1 XUAASHENE, RSSO SRR %Tﬂ@\ahﬁimg
gﬂﬁﬁﬂ 2. Fkk ﬁhﬁﬁﬁéﬁ%—ﬁtxe

| —. HZE (8514, #3045 RS &L L) |
M~&ﬁL%LM ﬁ%m,K%Eﬂmkonﬂ@w;ﬁﬁ@%ﬁ___ﬁ
| RA AT RSB RS RE R ; |
) w\uﬁ4wme-lwmﬁﬂr%\mmﬁ$ﬁm§msm\wﬁwww%ﬁ
Tl BRARME TN, BRTEAER SR Al . BF
SNSRI # : . ;
¥ 03 IEIEmALI B 2 - [HEMITNE M Z o KH |
L HERIREI00 B R o SRFRR B UE 1  1 s
KX E%m?mTﬁ%WWHWﬁ%%ﬁ Y___, DSBAZE B A ,
L SSBEE MR ,VSBf‘ MarseA_ ;
55\ = L B 1 0 A TR 7 Wiy, Hobirs |
BRI, FEA— R, ukmr% Hohf__ H%. '
§6PWLM¥£$ . ﬂ AR N
7\ BIMEDY 0 TR AR, AL I 4345, AL
A, B BRI RRAES_ K AR ;
8. MAMERLE D, MR A G LIRSS, T2 PRI |
LR R |
f\mﬁLHﬁL%H%%Fm LR,
10, EEERSEUPLAN, PEMREBESNELENE .

UL ERNEIE R, S R R T IR ﬁﬁﬁ%iﬁm%&,ﬂuf
i KH mb&, XRET RS (T

= EEE (340 )
L A /AE:'.L:i“FE‘Bﬁ}rJﬁDr'l’lfz}ﬁﬁﬁfijLH CAIZEHHA%ER? (84))

2 fFARSRI? THRRAEHA? (64)
B TERRINMENR PRI R P 1 B RIS . (6 4)
LA BLUITRAN A I RR (0 RELAE . (8 4) |
ﬁ\ﬂ%%m4m$,ﬂM$&mFiﬁwEH e JHBRAD 0] 4 4R () 3 A ST AR

v

Ha? (64

Pal



6. XTEL 2ASK. 2FSK. 2PSK/2DPSK {5 2 i o B, (64%)
;_\ﬁﬁﬂﬁmﬁ(%ﬂwﬂ :
HE—E 8 MNMEMIM S HRKEIEN RS S E, B4 aAEEMT, %j
§A%%mmgﬁoqmow; (D FIEEE: (2) BIERMFELRE |
B (3) ST 2 N EITREIOE AR (1) BIEEH SRR |
R BT, T2 MNBERILT 27 A SR (EEHEE S M1 |
Eﬁ/_) RERRERHRART SR, (1249)
2. RA 13 4L A RIS, B/NBALEMS L AN ERAL, SANRRERK I E D |
95 BACEAL (1) SRENADRHEDA, FHERUIRE, (2 SH |
RLTFiZ 7 AL 1Bk 11 G0, (14 49) ’
3, BaiEg) %‘—%m():cos(zooofn)f;ziaﬁﬂgzcosm“m, AHEH AM. DSB,

| SSB CFi#) MMM . (94%) :
4. B{ZEFF1J9 100000000001100001, &E4iA AMI FBF1 HDB3 i3 (E—A |
IR, (640 §
5. BN x(¢) = acos (wr +0), H a 10 ZHEMIHENESE, B a
EN 2, FER A 0FE0 B 20 R B, Rk (1) BEE[x()] ;|
L (2) FZED[x(1)]5 (3) AMREL: (4) ¥ x() BREFR. (14 4)

A A

H(w) Hw) H(w)
W W W
-1 /Ts n/Ts 3w /Ts 3n/Ts -4 7/Ts 41 /Ts

6. WEHRLNREREE. FERB RS BERN SRS N, B
| KEL (2/7s) Baud MEFHATHIRIEN, WHBESRE H) REH LD |
BT (O 1

7o X(OFY (0) RAHRIIIG PN, WA, Fa,, @%B%mﬁﬁ
R(D)FR,(r) e Rz()=X0)-Y(OF 2(1) = X(O)+ Y () I EHIXH B (64

M. EEEE (10 4) !
-1, % {5 809 110010101100, it 00K, 2FSK. 2PSK (&S MR RER. (%t |
OPSK1ES, =03 “07. p=180°4R%E “17) (104}) ’



